Churchlands Senior High School



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 19th December 2025 Using "8FXM" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$10.00, if placed on or before the return date of Friday 19th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



√1

Item Item Qty Unit Total Description Reqd Price \$ Amount \$ Office Use No. Read YEAR TWELVE Please note that some items on this Resource List are digital resources. To ensure access to digital content, school recommends purchasing a new book. New books include valid access code when required. Reactivation codes are only for students with a second-hand copy of the selected book, and won't work without it or with an incorrect edition. Things to remember: Digital resources are valid for 12 months unless stated otherwise. Please choose carefully, as digital resources cannot be returned, refunded or exchanged for change of mind. **ACCOUNTING & FINANCE ATAR** Retain all Year 11 books. Students to supply Scientific calculator (not Graphic). P19828 WA ATAR Accounting 3 2E [Doyle] 101.50 101.50 1 P09366 2 WA ATAR Accounting 4 2E [Doyle] 1 110.90 110.90 P37181 Creelman Exam Questions Accounting & Finance ATAR 3&4 2026 [John 50.00 50.00 Cannon] New Edition for 2026 If ordered online, will be delivered in bulk to the school. (Due approx, March 2026) **BIOLOGY ATAR** P19689 Biology WA ATAR 3&4 (Print & Digital) [Skirving et al] 102.95 102.95 P33208 WA Biology Yr12 ATAR Study Guide 3E [Peter Walster] 1 60.00 60.00 **BUSINESS MANAGEMENT & ENTERPRISE ATAR** P06045 Business Management & Enterprise: WA Yr 12 ATAR [J Hinton] 6 1 70.95 70.95 P34030 7 WA Bus. Mgmt & Enterp Yr12 ATAR Study Guide 2E [Jason Hinton] 60.00 1 60.00 **BUSINESS MANAGEMENT & ENTERPRISE GENERAL** P07601 70.95 70.95 Business Management & Enterprise: WA Yr11 ATAR/Yr12 General [Criddle, 8 Hinton1 P55442 Display Book A4 20 Pocket Black Refillable 9 1 2.30 2.30 **CERTIFICATE II - AUTOMOTIVE** No items required. **CERTIFICATE II - BUSINESS** No text required. **CERTIFICATE II - COMMUNITY SERVICE** No items required. **CERTIFICATE II - ELECTROTECH** P55830 Adhesive Tape Masking 18mm x 50m 10 4.95 4.95 P56298 Marker Permanent Extra fine Black 5.35 5.35 11 1 P50271 Pencil (HB) Goldfaber 12 0.70 0.70 **CERTIFICATE II - HOSPITALITY** Other requirements: 1x Food Container 1x Set of Reusable Cutlery **CERTIFICATE II - SPORT COACHING** Students are required to purchase the Red Physical Education polo from the Uniform Shop. This is compulsory. Students must bring a fully functioning and charged laptop to every class, as the theoretical component of the qualification is completed online, in class time.

Page 2

No text required.

CERTIFICATE III - BUSINESS

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	CERTIFICATE III - MUSIC					
P50547		10		4	15.95	15.95
1 30347	Earphones Ear Bud With In Ear Drivers and Microphone Walkman/Pod type earphones also suitable.	13		1	15.95	15.95
P58510	Eraser Plastic Pencil Large With Sleeve	14		1	0.40	0.40
P52001	Pencil (2B) Goldfaber	15		2	0.70	1.40
	Total (22) Coldidata	10	_	_	0.70	1.40
	CERTIFICATE III - VISUAL ARTS - CADD					
P55467	Document Wallet A3 PP Envelope With Stud	16		1	3.70	3.70
P58510	Eraser Plastic Pencil Large With Sleeve	17		1	0.40	0.40
P50271	Pencil (HB) Goldfaber	18		2	0.70	1.40
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	19		1	14.05	14.05
	CHEMISTRY ATAR					
	Pearson WA Chemistry 12		Choose One			
P00469	Pearson WA Chemistry 12 (SB Print & Digital) - OR -	20		1	103.50	103.50
E02441	Pearson WA Chemistry 12 (Digital 2Yr Reactivation)	21	DIGITAL ITEM	1	27.25	27.25
	Second Hand Textbook Required. Please select carefully as NO refunds will be provided for change of mind or a	ccider		nase.		
P35880	WA ATAR Exploring Chemistry Yr 12 (SPIRALLED) 2E [STAWA]	22		1	45.50	45.50
P05724	WA ATAR Essential Chemistry 3&4 (includes 2Yr Access Code) [Nick Lucarelli	1 23	<u> </u>	1	89.95	89.95
P51020	Calculator Sharp Scientific EL506TS	24	_	1	51.75	51.75
	Retain from previous year.					
	COMPUTER SCIENCE ATAR No Items Required.					
	COMPUTER SCIENCE GENERAL No Items Required.					
	DANCE GENERAL					
P06047	Dance: A Resource for WA Yr 12 General [S Chapman, M Jasper, R Sutherland]	25		1	54.95	54.95
	DESIGN ATAR					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	26		1	9.55	9.55
P56081	Marker Artline #200 Black 0.4mm	27		2	3.95	7.90
P52001	Pencil (2B) Goldfaber	28		2	0.70	1.40
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	29		1	14.05	14.05
P52011	Visual Journal Purple 60 Sht/120 Pg 240x320mm	30		1	19.95	19.95
	DESIGN PHOTOGRAPHY GENERAL					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	31		1	9.55	9.55
P51183	Memory Card Classic 16GB UHS Speed Class 1(U1)- NO RETURNS	32	$\overline{\Box}$	1	24.50	24.50
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	33		1	14.05	14.05
	DRAMA GENERAL					
P00181	Away (Currency Play) [Michael Gow]	34		1	24.99	24.99
P01925	Midsummer Night's Dream (Oxford School Shakespeare) [Gill (Ed.)]	35		1	19.95	19.95
P50281	Document Envelope A4 PP With Press Stud Clear	36		1	1.25	1.25
	,	-	_		_	-

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount
P15275	EARTH & ENVIRONMENTAL SCIENCE ATAR WACE Spotlight Nat Earth & Environmental Science Units 3&4 [Heffernan]	37		1	69.95	69.95
	ECONOMICS ATAR					
	Students to provide a Scientific (not Graphic) calculator and a 30cm ruler					
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp]			1	90.00	90.00
P34031	WA Economics Yr12 ATAR Study Guide 3E [Andrew Tibbitt]	39		1	60.00	60.00
	ENGLISH ATAR					
P08188	Insight Year 12 English WA (Print & Digital) Rev	40		1	54.95	54.95
P14672	Insight WA Year 12 ATAR English Exam Practice [L Bondin & L Pettigrew]	41	$\overline{\Box}$	1	24.95	24.95
	Retain from Year 11 English ATAR.		_			
P37607	Good Answers Year 12 ATAR English 2026 [ETAWA]	42		1	35.00	35.00
	New Edition for 2026		_			
	All students studying English ATAR must purchase this item. If ordered online, will be delivered in bulk to the school. Due approx. May 2026					
P54149	Exercise Book 225x175mm 96 Page 8mm #108 Spirax	43		2	1.35	2.70
P50613	Highlighters Pkt 4 Assorted	44		1	7.70	7.70
P56098	Pen Ballpoint Bic Cristal Blue	45		4	0.65	2.60
P54567	2026 Diary A5 Student Cumberland	46		1	2.25	2.25
	Students are strongly encouraged to use a diary to record homework and diary of your choice for your child or select this recommended option.	l stay o	organised.	You are welc	ome to pu	ırchase a
	ENGLISH GENERAL					
P50281		47		4	1.25	1.25
P54149	Document Envelope A4 PP With Press Stud Clear			1	1.25	1.25
P51157	Exercise Book 225x175mm 96 Page 8mm #108 Spirax	48		1	3.60	3.60
P52540	Highlighters Pkt 4 Micador ECO	49 50		1		
	Loose Leaf Refills Reinforced A4 7mm Pkt 50 Recycled	50		1	3.15	3.15
P56098	Pen Ballpoint Bic Cristal Blue	51		2	0.65	1.30
P54567	2026 Diary A5 Student Cumberland	52	Ц.	1	2.25	2.25
	Students are strongly encouraged to use a diary to record homework and diary of your choice for your child or select this recommended option.	l stay (organised.	You are welc	ome to pu	irchase a
	ENGLISH LITERATURE ATAR					
P37608	Good Answers Year 12 ATAR Literature 2026 [ETAWA]	53		1	35.00	35.00
	New Edition for 2026		_			
	All students studying English Literature ATAR must purchase this item. If ordered online, will be delivered in bulk to the school. Due approx. May 2026					
P34907	Death of a Salesman (Play) [Arthur Miller, C. Conceison (Ed.)]	54		1	17.99	17.99
P34567	Literature: WA Year 11 & 12 (Print & Digital) [E Cattapan & K Fielding]	55	$\overline{\Box}$	1	49.95	49.95
P13647	M Butterfly:With an Afterword by the Playwright (Tie-in) [David Henry Hwang]	56	\exists	1	45.35	45.35
P07182	Remembering Babylon [David Malouf]	57		1	14.99	14.99
P04860	Smoke Encrypted Whispers [Samuel Wagan Watson]	58		1	22.95	22.95
P11785	W. B. Yeats: Poems Selected by Seamus Heaney [W.B. Yeats]	59		1	22.99	22.99
P54149	Exercise Book 225x175mm 96 Page 8mm #108 Spirax	60		2	1.35	2.70
P50613	Highlighters Pkt 4 Assorted	61		1	7.70	7.70
P56098	Pen Ballpoint Bic Cristal Blue	62		4	0.65	2.60
P54567	·	63	_	4	2.25	2.00
. 5-501	2026 Diary A5 Student Cumberland			•		
	Students are strongly encouraged to use a diary to record homework and diary of your choice for your child or select this recommended option.	ı Stay (nyanised.	TOU ARE WELC	ome to pt	irchase a

			✓i	•		
		Item	Item	_Qty	Unit	Total
Office Use	Description	No.	Reqd	Reqa	Price \$	Amount \$
	ENGLISH AS AN ADDITIONAL LANGUAGE ATAR					
P34484	Macquarie Compact Dictionary 9E [Macquarie Dictionary]	64		1	29.99	29.99
	(Retain from Year 11)		_			
P54149	Exercise Book 225x175mm 96 Page 8mm #108 Spirax	65		2	1.35	2.70
P50613	Highlighters Pkt 4 Assorted	66		1	7.70	7.70
P56098	Pen Ballpoint Bic Cristal Blue	67		4	0.65	2.60
P54567	2026 Diary A5 Student Cumberland	68		1	2.25	2.25
	Students are strongly encouraged to use a diary to record homework diary of your choice for your child or select this recommended option		organised. Y	ou are welc	ome to p	urchase a
	ENGLISH AS AN ADDITIONAL LANGUAGE GENERAL					
P52129	Exercise Book 225x175mm 96 Page 8mm Premium Writer/Splash	69		1	1.45	1.45
P50613	Highlighters Pkt 4 Assorted	70	_	1	7.70	7.70
P56098	Pen Ballpoint Bic Cristal Blue	71	$\overline{}$	3	0.65	1.95
P54567	2026 Diary A5 Student Cumberland	72		1	2.25	2.25
	Students are strongly encouraged to use a diary to record homework diary of your choice for your child or select this recommended option		organised. Y	ou are welc	ome to p	urchase a
	FOOD SCIENCE TECHNOLOGY GENERAL					
P50281	Document Envelope A4 PP With Press Stud Clear	73		1	1.25	1.25
	Other requirements:		_			
	1x Food Container					
	1x Set of Reusable Cutlery					
	FRENCH SECOND LANGUAGE ATAR					
F83490	Churchlands SHS Language Perfect Subscription French Yr 12	74		1	39.50	39.50
	Please provide payment to Campion. Access details will be provide (Optional)	d by School				
P16664	Collins French Dictionary and Grammar 8E [Collins Dictionaries]	75		1	32.99	32.99
	Retain from previous year.					
P55442	Display Book A4 20 Pocket Black Refillable	76		2	2.30	4.60
	HEALTH STUDIES ATAR					
P07123	WA Health Studies Year 12 ATAR 2E [Emily Lockhart]	77		1	70.00	70.00
			_			
	HEALTH STUDIES GENERAL					
	No items required.					
	HUMAN BIOLOGY ATAR					
P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	78		1	60.00	60.00
P13290	Human Perspectives WA ATAR 3&4 (Print & Digital) 8E [Whan et al]	79		1	91.95	91.95
	JAPANESE SECOND LANGUAGE ATAR					
F83491	Churchlands SHS Language Perfect Subscription Japanese Yr 12	80		1	39.50	39.50
	Please provide payment to Campion. Access details will be provide (Optional)	d by School				
P00210	Oxford Beginners Japanese Dictionary (Jap-Eng-Jap) [Oxford]	81		1	32.95	32.95
	Retain from previous year.					
P55442	Display Book A4 20 Pocket Black Refillable	82		2	2.30	4.60
P50271	Pencil (HB) Goldfaber	83		1	0.70	0.70
	May use a mechanical pencil instead.					

	•	•	⊡ ⁄i	•		
		Item	∡ í Item	Qty	Unit	Total
Office Use	Description	No.	Reqd		Price \$	Amount \$
D==000	MATERIALS DESIGN TECHNOLOGY - JEWELLERY					
P55830	Adhesive Tape Masking 18mm x 50m	84		1	4.95	4.95
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	85		1	9.55	9.55
P50006	Pencil (HB) Columbia Crestmark	86		4	0.35	1.40
	MATERIALS, DESIGN AND TECHNOLOGY - METALS					
P55830	Adhesive Tape Masking 18mm x 50m	87		2	4.95	9.90
P56209	Handy Pouch A3	88		1	7.35	7.35
P56293	Marker Artline #700 Black	89		1	4.95	4.95
P50006	Pencil (HB) Columbia Crestmark	90		3	0.35	1.05
	MATERIALS DESIGN TECHNOLOGY - TEXTILES					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	91		1	9.55	9.55
	MATERIALS DESIGN TECHNOLOGY - WOOD					
P55830	Adhesive Tape Masking 18mm x 50m	92		3	4.95	14.85
P55467	Document Wallet A3 PP Envelope With Stud	93	\Box	1	3.70	3.70
P58510	Eraser Plastic Pencil Large With Sleeve	94		1	0.40	0.40
P56298	Marker Permanent Extra fine Black	95		1	5.35	5.35
P50271	Pencil (HB) Goldfaber	96		2	0.70	1.40
	MATHEMATICS COURSE SPECIALIST ATAR					
P00719	Maths Specialist WA ATAR 3&4 (Print & Dig) Rev. format [Sadler]	97		1	80.95	80.95
P37215	WA Math Special. Yr12 ATAR Revision Series 3E [O. T. Lee]	98		1	60.00	60.00
	New Edition for 2026			·	00.00	00.00
	(Due approx. December 2025)					
P37190	Creelman Exam Questions Math Specialist ATAR 3&4 2026 [Tim Oates]	99		1	50.00	50.00
	New Edition for 2026		_			
	If ordered online, will be delivered in bulk to the school. (Due approx, March 2026)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	100		1	281.95	281.95
P51020	Calculator Sharp Scientific EL506TS	101		1	51.75	51.75
	Retain Classpad II and scientific calculator from Year 11. Students can still use the Classpad I in the ATAR examination.		_	·	· · · · ·	· · · · ·
	MATHEMATICS COLIDSE METHODS ATAD					
P30649	MATHEMATICS COURSE METHODS ATAR	102		1	E1 00	51.00
P30648	WA Methods Year 12 Workbook: Unit 3 [J Klup]	102		1	51.00	
P37214	WA Methods Year 12 Workbook: Unit 4 [J Klup]	103		1 1	51.00	51.00
F37214	WA Math Methods Yr12 ATAR Revision Series 3E [O. T. Lee] New Edition for 2026	104		ı	60.00	60.00
	(Due approx. December 2025)					
P37189	Creelman Exam Questions Math Methods ATAR 3&4 2026 [Tim Oates]	105		1	50.00	50.00
	New Edition for 2026	.00		•	00.00	00.00
	If ordered online, will be delivered in bulk to the school. (Due approx, March 2026)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	106		1	281.95	281.95
P51020	Calculator Sharp Scientific EL506TS	107		1	51.75	51.75
	Retain Classpad II and scientific calculator from Year 11.		_	-		
	Students can still use the Classpad I in the ATAR examination.					

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS COURSE APPLICATIONS ATAR					
P01653	WA Applications Year 12 Workbook: Unit 3 [J Klup]	108		1	51.00	51.00
P01623	WA Applications Year 12 Workbook: Unit 4 [J Klup]	109		1	51.00	51.00
P37213	WA Math Applications Yr12 ATAR Revision Series 3E [O. T. Lee]	110		1	60.00	60.00
	New Edition for 2026 (Due approx. December 2025)					
P37188	Creelman Exam Questions Math Application ATAR 3&4 2026 [Shanahan	111		1	50.00	50.00
	Mooney] New Edition for 2026			·	00.00	00.00
	If ordered online, will be delivered in bulk to the school. (Due approx, March 2026)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	112		1	281.95	281.95
P51020	Calculator Sharp Scientific EL506TS	113		1	51.75	51.75
	Retain Classpad II and scientific calculator from Year 11. Students can still use the Classpad I in the ATAR examination.					
	MATHEMATICS COURSE ESSENTIALS GENERAL					
P51020	Calculator Sharp Scientific EL506TS	114		1	51.75	51.75
	Any scientific calculator is sufficient.					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	115		2	2.25	4.50
	YR 12 ESSENTIALS E-RESOURCE		_			
F83492	Churchlands SHS Year 12 Digital Mathematics E-Resource	116	. 🗀	1	24.00	24.00
	Please note that students are required to purchase this for their Mather Access to the E-Resource will be provided to students by the teacher.	matics C	lass.			
	MEDIA PRODUCTION & ANALYSIS GENERAL					
P55522	Eraser Plastic Pencil Economy in sleeve	117		1	0.70	0.70
P52001	Pencil (2B) Goldfaber	118		2	0.70	1.40
	MODERN HISTORY ATAR					
P14460	Russia Under Tsarism & Communism 1881-1953 (2E) [Fiehn & Corin]	119		1	69.95	69.95
P55442	Display Book A4 20 Pocket Black Refillable	120		1	2.30	2.30
	Biopia, Book, A. 20 Footio: Black Hollings.	120		•	2.00	2.00
	MUSIC ATAR					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	121		1	15.95	15.95
DE0E10	Walkman/Pod type earphones also suitable.	400		4	0.40	0.40
P58510 P52001	Eraser Plastic Pencil Large With Sleeve	122		1 2	0.40	0.40 1.40
F 3200 1	Pencil (2B) Goldfaber	123		2	0.70	1.40
	MUSIC GENERAL					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	124		1	15.95	15.95
P58510	Eraser Plastic Pencil Large With Sleeve	125		1	0.40	0.40
P52001	Pencil (2B) Goldfaber	126		2	0.70	1.40
	PHILOSOPY & ETHICS ATAR No Items Required.					
	PHYSICAL EDUCATION STUDIES ATAR					
	Students are required to purchase the Red Physical Education Studies	polo fro	m the Unifo	m Shon. Th	is is com	oulsorv.
E01136	Phys Ed Studies ATAR 3&4 Student Text (Digital MC2)	127	DIGITAL I	=	49.99	49.99
	Please provide a student email address when ordering.		= · = · · · · · · · · ·	•		. 3.00
P37191	Creelman Exam Questions Physical Education ATAR 3&4 2026 [Toby Lewis] 128		1	50.00	50.00
	New Edition for 2026		_			
	If ordered online, will be delivered in bulk to the school.					
	(Due approx, March 2026)					

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PHYSICAL EDUCATION STUDIES GENERAL					
	Students are required to purchase the Red Physical Education polo from	m the Ur	niform Shop. Thi	s is con	npulsory.	
	PHYSICS ATAR					
P36854	Pearson WA Physics 12 (SB Print & Digital) 2E [Greg Moran et al] New Edition for 2026	129		1	99.95	99.95
P37031	WA ATAR Exploring Physics Year 12 2E [STAWA] New Edition for 2026	130		1	45.50	45.50
	(Due approx. November 2025)					
P37208	WA Physics Yr12 ATAR Study Guide 3E [Mike Lucarelli] New Edition for 2026	131		1	60.00	60.00
	(Due approx. Late December 2025)					
P51020	Calculator Sharp Scientific EL506TS	132		1	51.75	51.75
	(Retain from previous year)		_			
	POLITICS & LAW ATAR					
	Please note: You are not required to purchase both the text book and the Please choose either the hard copy OR the digital version.	ne the di	gital version.			
	WACE Politics & Law 3&4 Power/Acc/Rights 2E		Choose One			
P18523	WACE Politics & Law 3&4 Power/Acc/Rights 2E [PLEAWA]	133		1	91.99	91.99
0020	- OR -	100		'	31.33	91.99
EM20709	WACE Politics & Law 3&4 Power/Acc/Rights (Digital MC2) 2E	134	DIGITAL ITEM	1	54.99	54.99
	Please provide a student email address when ordering.					
P37193	Creelman Exam Questions Politics & Law ATAR 3&4 2026 [Stephen King] New Edition for 2026	135		1	50.00	50.00
	Optional to purchase					
	PSYCHOLOGY ATAR					
P34032	WA Psychology Yr12 ATAR Study Guide 3E [Alana Wilson]	136		1	60.00	60.00
P34056	WA Psychology Yr12 ATAR Revision Series [Sonya Cerny]	137		1	60.00	60.00
	VISUAL ARTS GENERAL					
P55233	Brush Water Colours Taklon #907/0	138		1	7.35	7.35
P55236	Brush Water Colours Taklon #907/2	139		1	8.35	8.35
P55522	Eraser Plastic Pencil Economy in sleeve	140		1	0.70	0.70
P56081	Marker Artline #200 Black 0.4mm	141		1	3.95	3.95
P56115	Marker Artline #210 Black 0.6mm	142		1	3.95	3.95
P56044 P52001	Paint Set Acrylics 75ml x 5 Tubes Chromacryl Cool Colours	143		1	25.95	25.95
P52001	Pencil (2B) Goldfaber	144		1	0.70	0.70
P52013 P52010	Pencil (4B) Goldfaber Visual Journal Blue 60 Sht/120 Pg 240v320mm	145		1	0.70	0.70
F32010	Visual Journal Blue 60 Sht/120 Pg 240x320mm	146		1	19.95	19.95

 $\sqrt{}$

Total

Amount \$

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$
	Number of Boxes ticked:				
	Postage (Home delivery only)		\$10.00	_	
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 17/11/25)		\$	_	

☐ Yes, please email me with information on current Year 11 and 12 Study Guides.